o K
S %9 Hardware
p
© .
< Bolt Assemblies
1/4-20 Button Head Socket Cap Screw (BHSCS)
| pssyNo | Bt | ay | sottype | Theadsee | Botiiengh
1 375" B3 1 Roll-In T-Nut with Flex Handle — — 0151b
1 375" B352 1 Slide-In Economy T-Nut - Centered Thread — — 026 Ib
3392 [clonasi] 1 .500" B3 1 Roll-In T-Nut with Flex Handle — — .0211b
1 500" B34 1 Roll-In T-Nut with Flex Handle 1 .020 Ib
1 .500" B3 1 Roll-In T-Nut with Flex Handle — — 016 1b
@ =380 <10 | 1 500" B3 1 Roll-In T-Nut with Flex Handle 1 .0201b
% [cloras| 1 .500" B3 1 Roll-In T-Nut with Flex Handle — — 016 1b
a G051 1 500" B382 1 Slide-In Economy T-Nut - Centered Thread — — 0171b
~ 1 500" B382 1 Slide-In Economy T-Nut - Centered Thread 37259 1 .0211b
1 .500" B382 1 Slide-In Economy T-Nut - Centered Thread — — 017 Ib
[5=380 1 500" G382 1 Slide-In Economy T-Nut - Centered Thread 1 0211b
ciorei | 1 500" 1 Standard Drop-In T-Nut — — .0161b
G283 1 625" B3 1 Roll-In T-Nut with Flex Handle 1 .020 Ib
B053 1 625" G374 1 Roll-In T-Nut with Flex Handle — — .017 Ib
[75-3801 3063 1 625" B3™ 1 Roll-In T-Nut with Flex Handle 1 .020 Ib
B053 1 BHSCS 1/4:20 625" B34 1 Roll-In T-Nut with Flex Handle — — .018 Ib
" crk:] 1 625" 3754 1 Slide-In Economy T-Nut - Centered Thread — — 018 1b
o BZ52 ciorek] 1 625" B382 1 Slide-In Economy T-Nut - Centered Thread 1 .0221b
§ 1 625" 3654 1 Slide-In Economy T-Nut - Centered Thread 1 025 Ib
Lrl_ﬁ 53802 ciorek] 1 625" B35 1 Slide-In Economy T-Nut - Centered Thread — — .0181b
[75-3804 3063 1 625" B35 1 Slide-In Economy T-Nut - Centered Thread 1 .0221b
° B053 1 625" — — — 1 0121b
3459 1 .750" 1 Hex Nut 1 .020 Ib
B33 3063 1 750" B34 1 Roll-In T-Nut with Flex Handle 3258 1 .0211b
=380 1 .750" B3 1 Roll-In T-Nut with Flex Handle — — 0191b
=381 1 .750" B3d 1 Roll-In T-Nut with Flex Handle 1 .021 b
3063 1 750" B3 1 Roll-In T-Nut with Flex Handle — — 018 1b
" ckya | 1 750" B35 1 Slide-In Economy T-Nut - Centered Thread 1 036 1b
o [75-3804 1 750" B35 1 Slide-In Economy T-Nut - Centered Thread - - .020 Ib
8 =381 3063 1 750" B382 1 Slide-In Economy T-Nut - Centered Thread 1 .023 Ib
[~} B2 1 .750" 1 Standard Slide-In T-Nut — — .0181b
= 55 1 750" = = = 1 014 Ib
’E *Assembly comprised of stainless steel (SS) hardware
N 1/4-20 Flanged Button Head Socket Cap Screw (FBHSCS)
<0107 2 375" 1 Double Slide-In Economy T-Nut — — 034 1b
B387 1 375" B37d 1 Roll-In T-Nut with Flex Handle — — .0151b
1 375" B37d 1 Roll-In T-Nut with Flex Handle — — .0151b
% 1 375" B382 1 Slide-In Economy T-Nut - Centered Thread — — 016 Ib
L 2 .500" 1 Double Slide-In Economy T-Nut — — .037 b
02 1 .500" 1 Hex Nut — — .016 Ib
% B4s1 3342 1 FBHSCS 11420 .500" B37d 1 Roll-In T-Nut Wfth Flex Handle — — .017 b
© 1 500 1 Roll-In T-Nut with Flex Handle — — 033 b
© B34 1 500" B382 1 Slide-In Economy T-Nut - Centered Thread — — 0181b
e} 3342 3 500" 3287 1 Triple Slide-In Economy T-Nut — — .0521b
3002 1 750" 1 Hex Nut 1 .022 b
B384 1 .750" B37d 1 Roll-In T-Nut with Flex Handle — — .037 Ib
B483 1 750" B37d 1 Roll-In T-Nut with Flex Handle — — .0191b
B384 1 750" B382 1 Slide-In Economy T-Nut - Centered Thread — — 020 Ib
i
2
o
(5]
o
=
=
g 0?“ 80,20 More on 80/20° products
available at 3020.nei
° 3-194 2’ BUILD YOUR IDEA



http://8020.net
https://8020.net/3520.html
https://8020.net/3059.html
https://8020.net/3376.html
https://8020.net/3416.html
https://8020.net/3059.html
https://8020.net/3382.html
https://8020.net/3394.html
https://8020.net/3061.html
https://8020.net/3376.html
https://8020.net/3399.html
https://8020.net/3061.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/75-3801.html
https://8020.net/3061.html
https://8020.net/3376.html
https://8020.net/75-3807.html
https://8020.net/3061.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/3521.html
https://8020.net/3061.html
https://8020.net/3376.html
https://8020.net/3393.html
https://8020.net/3061.html
https://8020.net/3382.html
https://8020.net/3398.html
https://8020.net/3061.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/75-3800.html
https://8020.net/3061.html
https://8020.net/3382.html
https://8020.net/75-3806.html
https://8020.net/3061.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3408.html
https://8020.net/3061.html
https://8020.net/14165.html
https://8020.net/3484.html
https://8020.net/3063.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/75-3803.html
https://8020.net/3063.html
https://8020.net/3376.html
https://8020.net/75-3809.html
https://8020.net/3063.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/3522.html
https://8020.net/3063.html
https://8020.net/3376.html
https://8020.net/3418.html
https://8020.net/3063.html
https://8020.net/3286.html
https://8020.net/3482.html
https://8020.net/3063.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3647.html
https://8020.net/3663.html
https://8020.net/3686.html
https://8020.net/3658.html
https://8020.net/75-3802.html
https://8020.net/3063.html
https://8020.net/3382.html
https://8020.net/75-3808.html
https://8020.net/3063.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3367.html
https://8020.net/3063.html
https://8020.net/3258.html
https://8020.net/3469.html
https://8020.net/3065.html
https://8020.net/3208.html
https://8020.net/3258.html
https://8020.net/3372.html
https://8020.net/3065.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/75-3805.html
https://8020.net/3065.html
https://8020.net/3376.html
https://8020.net/75-3811.html
https://8020.net/3065.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/3523.html
https://8020.net/3065.html
https://8020.net/3376.html
https://8020.net/3371.html
https://8020.net/3065.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/75-3804.html
https://8020.net/3065.html
https://8020.net/3382.html
https://8020.net/75-3810.html
https://8020.net/3065.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3479.html
https://8020.net/3065.html
https://8020.net/3204.html
https://8020.net/3388.html
https://8020.net/3065.html
https://8020.net/3258.html
https://8020.net/3002.html
https://8020.net/3390.html
https://8020.net/3280.html
https://8020.net/3387.html
https://8020.net/3390.html
https://8020.net/3376.html
https://8020.net/3480.html
https://8020.net/3390.html
https://8020.net/3376.html
https://8020.net/3386.html
https://8020.net/3390.html
https://8020.net/3382.html
https://8020.net/3356.html
https://8020.net/3342.html
https://8020.net/3280.html
https://8020.net/3465.html
https://8020.net/3342.html
https://8020.net/3208.html
https://8020.net/3481.html
https://8020.net/3342.html
https://8020.net/3376.html
https://8020.net/3322.html
https://8020.net/3342.html
https://8020.net/3283.html
https://8020.net/3321.html
https://8020.net/3342.html
https://8020.net/3382.html
https://8020.net/3358.html
https://8020.net/3342.html
https://8020.net/3287.html
https://8020.net/3004.html
https://8020.net/3066.html
https://8020.net/3208.html
https://8020.net/3258.html
https://8020.net/3385.html
https://8020.net/3066.html
https://8020.net/3376.html
https://8020.net/3485.html
https://8020.net/3066.html
https://8020.net/3376.html
https://8020.net/3384.html
https://8020.net/3066.html
https://8020.net/3382.html

Hardware #3%

=

=

Bolt Assemblies (Continued) @

e

1/4-20 Flat Head Socket Cap Screw (FHSCS) S
B3 BZm 1 500" B378 1 Roll-In T-Nut with Flex Handle — — 016 Ib
BE33* 1 500" 1 Roll-In T-Nut with Flex Handle — — 016 Ib
6533 BZm 1 .500” 1 Roll-In T-Nut with Flex Handle — — .028 Ib
B532 5400 1 500" 1 Roll-In T-Nut with Flex Handle — — .0321b
B2 ez:ton] 1 500" B382 1 Slide-In Economy T-Nut - Centered Thread — — 0181b

B2 1 FHSCS 11420 500" 1 Standard Slide-In T-Nut — — .0191b N

B404 1 625" B379 1 Roll-In T-Nut with Flex Handle — — 017 b o

203 1 625" 12763 1 Standard Drop-In T-Nut — — 017 Ib %

ez [czav: S 750" 1 Hex Nut 1 0221b o
1 750" G378 1 Roll-In T-Nut with Flex Handle — — 0191b
B54 G408 1 750" 1 Roll-In T-Nut with Flex Handle — — 029 Ib
BZ07 1 750" 12763 1 Standard Drop-In T-Nut — — 0191b

*Assembly comprised of stainless steel (SS) hardware

1/4-20 Socket Head Cap Screw (SHCS)

3ot Leng (.
200 1 375" B378 1 Roll-In T-Nut with Flex Handle — — 017 Ib -
1 375" B382 1 Slide-In Economy T-Nut - Centered Thread — — 0191b %
eztey) 1 500" B3 1 Roll-In T-Nut with Flex Handle — — 0181b v
3499 3062 1 .500" B379 1 Roll-In T-Nut with Flex Handle 3758 1 022 1b g
>3813 1 500" exyii) 1 Roll-In T-Nut with Flex Handle — — 0181b
1 500" <k 1 Roll-In T-Nut with Flex Handle 1 0221b
B2 3062 1 .500" B382 1 Slide-In Economy T-Nut - Centered Thread — — .020 Ib
BZH 1 500" B382 1 Slide-In Economy T-Nut - Centered Thread 1 024 b
=381 1 500" B382 1 Slide-In Economy T-Nut - Centered Thread — — 020 Ib
B0G2 1 500" B382 1 Slide-In Economy T-Nut - Centered Thread 1 .024 Ib
B2 1 625" B378 1 Roll-In T-Nut with Flex Handle — — 020 Ib ~
BZ98 1 625" B378 1 Roll-In T-Nut with Flex Handle 1 .023 Ib =
53811 3067 1 625" B378 1 Roll-In T-Nut with Flex Handle — — .020 Ib %
1 625" BI78 1 Roll-In T-Nut with Flex Handle 1 0231b 2
B4 1 625" B382 1 Slide-In Economy T-Nut - Centered Thread — — .0211b Qo0
3707 (061 1 625" B382 1 Slide-In Economy T-Nut - Centered Thread 1 025 b g
=381 1 625" (382 1 Slide-In Economy T-Nut - Centered Thread — — .0211b )
[/5-3822 1 SHCS 1/4-20 625" 6382 1 Slide-In Economy T-Nut - Centered Thread 1 025 1b ¢
3397 3064 1 750" B379 1 Roll-In T-Nut with Flex Handle — — .0211b
=381 1 750" G378 1 Roll-In T-Nut with Flex Handle — — .0211b
1 750" B379 1 Roll-In T-Nut with Flex Handle 1253 1 024 b
B304 3062 1 750" G382 1 Slide-In Economy T-Nut - Centered Thread — — 025 1b
53814 1 750" G382 1 Slide-In Economy T-Nut - Centered Thread — — 0251b o
1 750" G352 1 Slide-In Economy T-Nut - Centered Thread 1 0261b
[¢KK] (064 1 875" 3708 1 Hex Nut 1 025 1b g
{GKI0k| 1 875" G382 1 Slide-In Economy T-Nut - Centered Thread — — 024 b o
B4 3063 1 875" (382 1 Slide-In Economy T-Nut - Centered Thread 1 027 b @
=381 Bo 1 1.000" G378 1 Roll-In T-Nut with Flex Handle — — 023 Ib S_2n°
B3m <iovi] 1 1.000" B382 1 Slide-In Economy T-Nut - Centered Thread — — 0251b o
53818 Siovi| 1 1.000" 6382 1 Slide-In Economy T-Nut - Centered Thread — — 0251b -
B30 Bo72 1 1.250" B382 1 Slide-In Economy T-Nut - Centered Thread - — 027 Ib
B30 G080 1 1.500" G382 1 Slide-In Economy T-Nut - Centered Thread — — 041 1b
BZ32 B8 1 1.500" B382 1 Slide-In Economy T-Nut - Centered Thread 1 .020 Ib
BZ33 Gi013K | 1 2.125" (382 1 Slide-In Economy T-Nut - Centered Thread 1 027 Ib
erky] G082 1 2.500" B382 1 Slide-In Economy T-Nut - Centered Thread - — 044 b o
w
it
=
Q
More on 80/20° products 0?0 80/20 S;;
available at 3020.nei <
2"’ 5UILD YOUR IDEA 3-195 5


http://8020.net
https://8020.net/3415.html
https://8020.net/3400.html
https://8020.net/3376.html
https://8020.net/3639.html
https://8020.net/3645.html
https://8020.net/3624.html
https://8020.net/3533.html
https://8020.net/3400.html
https://8020.net/3283.html
https://8020.net/3532.html
https://8020.net/3400.html
https://8020.net/3283.html
https://8020.net/3414.html
https://8020.net/3400.html
https://8020.net/3382.html
https://8020.net/3419.html
https://8020.net/3400.html
https://8020.net/3204.html
https://8020.net/3524.html
https://8020.net/3405.html
https://8020.net/3376.html
https://8020.net/3409.html
https://8020.net/3405.html
https://8020.net/14165.html
https://8020.net/3417.html
https://8020.net/3406.html
https://8020.net/3208.html
https://8020.net/3258.html
https://8020.net/3525.html
https://8020.net/3406.html
https://8020.net/3376.html
https://8020.net/3534.html
https://8020.net/3406.html
https://8020.net/3283.html
https://8020.net/3407.html
https://8020.net/3406.html
https://8020.net/14165.html
https://8020.net/3490.html
https://8020.net/3058.html
https://8020.net/3376.html
https://8020.net/3486.html
https://8020.net/3058.html
https://8020.net/3382.html
https://8020.net/3492.html
https://8020.net/3062.html
https://8020.net/3376.html
https://8020.net/3496.html
https://8020.net/3062.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/75-3813.html
https://8020.net/3062.html
https://8020.net/3376.html
https://8020.net/75-3821.html
https://8020.net/3062.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/3491.html
https://8020.net/3062.html
https://8020.net/3382.html
https://8020.net/3495.html
https://8020.net/3062.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/75-3812.html
https://8020.net/3062.html
https://8020.net/3382.html
https://8020.net/75-3820.html
https://8020.net/3062.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3494.html
https://8020.net/3067.html
https://8020.net/3376.html
https://8020.net/3498.html
https://8020.net/3067.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/75-3815.html
https://8020.net/3067.html
https://8020.net/3376.html
https://8020.net/75-3823.html
https://8020.net/3067.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/3493.html
https://8020.net/3067.html
https://8020.net/3382.html
https://8020.net/3497.html
https://8020.net/3067.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/75-3814.html
https://8020.net/3067.html
https://8020.net/3382.html
https://8020.net/75-3822.html
https://8020.net/3067.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3397.html
https://8020.net/3064.html
https://8020.net/3376.html
https://8020.net/75-3817.html
https://8020.net/3064.html
https://8020.net/3376.html
https://8020.net/75-3825.html
https://8020.net/3064.html
https://8020.net/3376.html
https://8020.net/3258.html
https://8020.net/3304.html
https://8020.net/3064.html
https://8020.net/3382.html
https://8020.net/75-3816.html
https://8020.net/3064.html
https://8020.net/3382.html
https://8020.net/75-3824.html
https://8020.net/3064.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3315.html
https://8020.net/3068.html
https://8020.net/3208.html
https://8020.net/3258.html
https://8020.net/3305.html
https://8020.net/3068.html
https://8020.net/3382.html
https://8020.net/3471.html
https://8020.net/3068.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/75-3819.html
https://8020.net/3071.html
https://8020.net/3376.html
https://8020.net/3306.html
https://8020.net/3071.html
https://8020.net/3382.html
https://8020.net/75-3818.html
https://8020.net/3071.html
https://8020.net/3382.html
https://8020.net/3307.html
https://8020.net/3072.html
https://8020.net/3382.html
https://8020.net/3308.html
https://8020.net/3080.html
https://8020.net/3382.html
https://8020.net/3432.html
https://8020.net/3080.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3433.html
https://8020.net/3081.html
https://8020.net/3382.html
https://8020.net/3258.html
https://8020.net/3434.html
https://8020.net/3082.html
https://8020.net/3382.html

o K
S %9 Hardware
.9
=
§ Bolt Assemblies (Continued)
5/16-18 Button Head Socket Cap Screw (BHSCS)
B104 1 .500" 1 Roll-In T-Nut with Flex Handle — — .036 Ib
B431 B 1 .625" 1 Roll-In T-Nut with Flex Handle 1 .043 Ib
Be1g 1 625" 1 Roll-In T-Nut with Flex Handle 1 042 1b
[/5-3821 BEm 1 625" 3282 1 Roll-In T-Nut with Flex Handle — — .038 Ib
53833 Gk | 1 625" 1 Roll-In T-Nut with Flex Handle 1 0431b
_;? B 1 625" 1 Roll-In T-Nut with Flex Handle — — .038 Ib
E B 1 625" 1 Slide-In Economy T-Nut - Offset Thread — — .0411b
o <7k | il 1 625" 1 Slide-In Economy T-Nut - Offset Thread 1250 1 .045 b
N B451 BT 1 625" 1 Slide-In Economy T-Nut - Offset Thread — — 0411b
| crai| 1 625" 1 Slide-In Economy T-Nut - Offset Thread 1 047 b
75-33783 B 1 625" 1 Slide-In Economy T-Nut - Offset Thread — — .0411b
53832 B 1 625" 1 Slide-In Economy T-Nut - Offset Thread 1 .0451b
B242 B113 1 750" eva ] 1 Hex Nut 3260 1 .0331b
[¢HEE| 1 .750" G214 1 Hex Nut 1 .033 b
B4 G113 1 .750" 1 Roll-In T-Nut with Flex Handle 3260 1 044 1b
o G114 1 .750" 1 Roll-In T-Nut with Flex Handle — — .040 Ib
o 53834 G113 1 BHSCS 5/16-18 .750" 3282 1 Roll-In T-Nut with Flex Handle 3260 1 044 1b
§ B3 1 750" 1 Roll-In T-Nut with Flex Handle — — .040 Ib
L(I_% B3 1 750" | cvak:| 1 Slide-In Economy T-Nut - Offset Thread 1 043 1b
° B514 1 750" 1 Slide-In Economy T-Nut - Offset Thread 3659 1 .050 Ib
G113 1 750" 1 Slide-In Economy T-Nut - Offset Thread — — 039 1b
53834 B3 1 750" 1 Slide-In Economy T-Nut - Offset Thread 3260 1 .0431b
B4 1 750" — — — 1 023 1b
B 1 875" — — — 1 .024 b
B443 G118 1 1.000" 1 Roll-In T-Nut with Flex Handle 1 .048 Ib
53831 B18 1 1.000" 3282 1 Roll-In T-Nut with Flex Handle — — .044 b
g 53831 B3 1 1.000" 1 Roll-In T-Nut with Flex Handle 1 .048 Ib
8 B443 B8 1 1.000" 1 Slide-In Economy T-Nut - Offset Thread 1 046 Ib
5 BE32* 1 1.000" 1 Slide-In Economy T-Nut - Offset Thread 1 054 Ib
% B113 1 1.000" 1 Slide-In Economy T-Nut - Offset Thread — — .0421b
% [7/5-3830 B113 1 1.000" 1 Slide-In Economy T-Nut - Offset Thread 3260 1 .046 Ib
& 1 1.750" 1 Flanged Hex Nut 1 .054 Ib
~ 3079 1 2.000” 1 Flanged Hex Nut 1 .058 Ib
*Assembly comprised of stainless steel (SS) hardware
5/16-18 Drop-in T-Slot Stud
)
0 B30 1 750" BZ13 1 1 0381b
; ori) 1 750" [cvat| 1 1 0381b
£ G ! Drop-in T-Slot Stud 5/16-18 1.000° en ! Hex Nut ! 041l
i G4 1 1.000" 6214 1 1 0411b
@ ki) Y, 1 1.250" evat 1 1 046 1b
- [exiok] 3299 1 1.500" 214 1 1 .050 Ib
n

5/16-18 Flat Head Socket Cap Screw (FHSCS)

I N e e e T S K [
1 _ _

Assy. No.

105K 1 .500" 3282 Roll-In T-Nut with Flex Handle .036 Ib
a BZ410 1 625" 1 Roll-In T-Nut with Flex Handle — — .038 Ib
§ B2 ern) 1 FHSCS 5/16-18 625" 1 Slide-In Economy T-Nut - Offset Thread - - 036 b
a G| B2 1 625" 1 Roll-In T-Nut with Flex Handle — — 0501b
o 3531 3411 1 .750” 3282 1 Roll-In T-Nut with Flex Handle — — .0411b
o)
£
M
o ' 80,20 More on 80/20° products
o [ ] .

available at 3020.nei

° 3-196 2’ BUILD YOUR IDEA



http://8020.net
https://8020.net/3526.html
https://8020.net/3104.html
https://8020.net/3282.html
https://8020.net/3437.html
https://8020.net/3111.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/3618.html
https://8020.net/3611.html
https://8020.net/3600.html
https://8020.net/3659.html
https://8020.net/75-3827.html
https://8020.net/3111.html
https://8020.net/3282.html
https://8020.net/75-3833.html
https://8020.net/3111.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/3527.html
https://8020.net/3111.html
https://8020.net/3282.html
https://8020.net/3365.html
https://8020.net/3111.html
https://8020.net/3278.html
https://8020.net/3435.html
https://8020.net/3111.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3461.html
https://8020.net/3111.html
https://8020.net/3278.html
https://8020.net/3620.html
https://8020.net/3611.html
https://8020.net/3678.html
https://8020.net/3659.html
https://8020.net/75-3826.html
https://8020.net/3111.html
https://8020.net/3278.html
https://8020.net/75-3832.html
https://8020.net/3111.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3442.html
https://8020.net/3114.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3467.html
https://8020.net/3114.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3441.html
https://8020.net/3114.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/75-3829.html
https://8020.net/3114.html
https://8020.net/3282.html
https://8020.net/75-3835.html
https://8020.net/3114.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/3528.html
https://8020.net/3114.html
https://8020.net/3282.html
https://8020.net/3439.html
https://8020.net/3114.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3630.html
https://8020.net/3614.html
https://8020.net/3678.html
https://8020.net/3659.html
https://8020.net/75-3828.html
https://8020.net/3114.html
https://8020.net/3278.html
https://8020.net/75-3834.html
https://8020.net/3114.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3366.html
https://8020.net/3114.html
https://8020.net/3260.html
https://8020.net/3499.html
https://8020.net/3117.html
https://8020.net/3260.html
https://8020.net/3445.html
https://8020.net/3118.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/75-3831.html
https://8020.net/3118.html
https://8020.net/3282.html
https://8020.net/75-3837.html
https://8020.net/3118.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/3443.html
https://8020.net/3118.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3632.html
https://8020.net/3621.html
https://8020.net/3678.html
https://8020.net/3659.html
https://8020.net/75-3830.html
https://8020.net/3118.html
https://8020.net/3278.html
https://8020.net/75-3836.html
https://8020.net/3118.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3971.html
https://8020.net/3945.html
https://8020.net/3759.html
https://8020.net/3760.html
https://8020.net/3961.html
https://8020.net/3946.html
https://8020.net/3759.html
https://8020.net/3760.html
https://8020.net/3300.html
https://8020.net/3293.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3476.html
https://8020.net/3293.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3301.html
https://8020.net/3295.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3478.html
https://8020.net/3295.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3302.html
https://8020.net/3297.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3303.html
https://8020.net/3299.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3529.html
https://8020.net/3011.html
https://8020.net/3282.html
https://8020.net/3530.html
https://8020.net/3410.html
https://8020.net/3282.html
https://8020.net/3531.html
https://8020.net/3411.html
https://8020.net/3282.html
https://8020.net/3412.html
https://8020.net/3410.html
https://8020.net/3278.html

Hardware #3%

=
=
5
Bolt Assemblies (Continued) &
®
o
~
5/16-18 Flanged Button Head Socket Cap Screw (FBHSCS) S
BIm B30 2 500" 2 1 Double Slide-In Economy T-Nut — — 094 1b
B3 B340 1 500" 1 Roll-In T-Nut with Flex Handle — — 038 Ib
B3 B340 1 500" B273 1 Slide-In Economy T-Nut - Offset Thread — — 037 b
G330 2 — R 687" 1 Double Slide-In Economy T-Nut — — .0981b
BZ63 B33 1 687" B214 1 Hex Nut 3260 1 033 1b
B33 G330 1 687" (787 1 Roll-In T-Nut with Flex Handle — — 0411b N
B33 1 687" yaki] 1 Slide-In Economy T-Nut - Offset Thread - — 039 1b =
G330 8 687" 1 Triple Slide-In Economy T-Nut — — 1341b §h
=
(2]

5/16-18 Flanged Hex Head Bolt

Bolt Bolt Type Thread Size Bolt Length Nut Type Weight

3970 752 1 1.750" 3750 1 058 Ib
- Flanged Hex Nut
- 753 q Flanged Hex Head Bolt 5/16-18 2000" - 1 anged Hex Nu _ _ 0631

5/16-18 Slide-In Economy T-Slot Stud

B3 B8 1 750" B3 1 1 0421b
Slide-In Economy T-Slot Stud 5/16-18 Hex Nut
] > y : 1.000" cvar: S X 1 0451b

slauaise e

5/16-18 Slide-In Flanged Economy T-Slot Stud

BT 1 BZ1a 1 1

5/16-18 750" 3260 .0391b
(170 1 5/16-18 1.000" BZ14 1 1 .0451b
eryz | 1 5/16-18 1.000" Bz 1 1 .0451b
G121 1 Slide-In Flanged Economy T-Slot Stud 5/16-18 1.250" 6213 1 Hex Nut 1 .048 b
¢HKY| 1 5/16-18 1.500" Bz 1 1 .0511b IN
B=3 1 5/16-18 1.750" 213 1 1 .056 Ib =
3290 1 5/16-18 2.000" BZ13 1 1 .060 Ib %
&
5/16-18 Socket Head Cap Screw (SHCS) QU°
:
1 .500" 1 Roll-In T-Nut with Flex Handle — — .040 b @
[/5-3839 B4 1 .500" 1 Roll-In T-Nut with Flex Handle — — .040 Ib
3750 1 500" 1 Slide-In Economy T-Nut - Offset Thread — — 034 1b
Be3a 1 500" 1 Slide-In Economy T-Nut - Offset Thread — — .0351b
[75-3830 1 500" 1 Slide-In Economy T-Nut - Offset Thread — — 034 1b
BT 1 625" 1 Roll-In T-Nut with Flex Handle — — .053 Ib o
3487 BT 1 625" 1 Roll-In T-Nut with Flex Handle 1 .057 Ib
[/5-3841 BT 1 625" 3282 1 Roll-In T-Nut with Flex Handle — — .053 Ib 9
G 1 SHCS 5/16-18 625" 1 Roll-In T-Nut with Flex Handle 1 057 Ib &
3257 BT 1 625" 1 Slide-In Economy T-Nut - Offset Thread — — .040 b @
3267 BT 1 625" 1 Slide-In Economy T-Nut - Offset Thread 1 045 Ib $_2n°
Be3g* 1 625" 1 Slide-In Economy T-Nut - Offset Thread — — 036 1b g
360g* 1 625" 1 Slide-In Economy T-Nut - Offset Thread 1 .040 Ib -
[75-38410 BT 1 625" 1 Slide-In Economy T-Nut - Offset Thread — — .040 b
BT 1 625" 1 Slide-In Economy T-Nut - Offset Thread 1 045 b
B 1 750" 1 Roll-In T-Nut with Flex Handle 1 .049 Ib
[/5-3843 BT 1 750" 3282 1 Roll-In T-Nut with Flex Handle — — .044 1b
*Assembly comprised of stainless steel (SS) hardware o
@
)
=
| g
More on 80/20° products 0?0 80/20 S_?;
available at 3020.nei =
2"’ 5UILD YOUR IDEA 3-197 5


http://8020.net
https://8020.net/3000.html
https://8020.net/3340.html
https://8020.net/3279.html
https://8020.net/3318.html
https://8020.net/3340.html
https://8020.net/3282.html
https://8020.net/3319.html
https://8020.net/3340.html
https://8020.net/3278.html
https://8020.net/3355.html
https://8020.net/3330.html
https://8020.net/3279.html
https://8020.net/3463.html
https://8020.net/3330.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3323.html
https://8020.net/3330.html
https://8020.net/3282.html
https://8020.net/3320.html
https://8020.net/3330.html
https://8020.net/3278.html
https://8020.net/3357.html
https://8020.net/3330.html
https://8020.net/3285.html
https://8020.net/3970.html
https://8020.net/3752.html
https://8020.net/3759.html
https://8020.net/3960.html
https://8020.net/3753.html
https://8020.net/3759.html
https://8020.net/3745.html
https://8020.net/3716.html
https://8020.net/3714.html
https://8020.net/3760.html
https://8020.net/3737.html
https://8020.net/3720.html
https://8020.net/3714.html
https://8020.net/3760.html
https://8020.net/3325.html
https://8020.net/3116.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3150.html
https://8020.net/3120.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3474.html
https://8020.net/3120.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3151.html
https://8020.net/3126.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3152.html
https://8020.net/3134.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3153.html
https://8020.net/3288.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3154.html
https://8020.net/3290.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3452.html
https://8020.net/3106.html
https://8020.net/3282.html
https://8020.net/75-3839.html
https://8020.net/3106.html
https://8020.net/3282.html
https://8020.net/3450.html
https://8020.net/3106.html
https://8020.net/3278.html
https://8020.net/3634.html
https://8020.net/3610.html
https://8020.net/3678.html
https://8020.net/75-3838.html
https://8020.net/3106.html
https://8020.net/3278.html
https://8020.net/3456.html
https://8020.net/3110.html
https://8020.net/3282.html
https://8020.net/3464.html
https://8020.net/3110.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/75-3841.html
https://8020.net/3110.html
https://8020.net/3282.html
https://8020.net/75-3847.html
https://8020.net/3110.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/3454.html
https://8020.net/3110.html
https://8020.net/3278.html
https://8020.net/3462.html
https://8020.net/3110.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3636.html
https://8020.net/3612.html
https://8020.net/3678.html
https://8020.net/3699.html
https://8020.net/3612.html
https://8020.net/3678.html
https://8020.net/3659.html
https://8020.net/75-3840.html
https://8020.net/3110.html
https://8020.net/3278.html
https://8020.net/75-3846.html
https://8020.net/3110.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3468.html
https://8020.net/3112.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/75-3843.html
https://8020.net/3112.html
https://8020.net/3282.html

o K
S W Hardware
P
© . .
< Bolt Assemblies (Continued)
5/16-18 Socket Head Cap Screw (SHCS)
Bol Lengi
53849 B 1 750" 1 Roll-In T-Nut with Flex Handle 1 .053 b
B112 1 750" 1 Slide-In Economy T-Nut - Offset Thread — — 0411b
B 1 750" 1 Slide-In Economy T-Nut - Offset Thread 1 047 1b
Be40* Bl 1 750" 1 Slide-In Economy T-Nut - Offset Thread 1 .0511b
753842 B2 1 750" 1 Slide-In Economy T-Nut - Offset Thread — — .0411b
b 53843 B112 1 750" 1 Slide-In Economy T-Nut - Offset Thread 1 045 Ib
% BT 1 875" BZ14 1 Hex Nut 1 .0401b
o 3400 BT 1 875" 1 Roll-In T-Nut with Flex Handle — — .055 |b
N B 1 875" 1 Slide-In Economy T-Nut - Offset Thread — — 0451b
BG33* 1 875" 1 Slide-In Economy T-Nut - Offset Thread — — 039 1b
1 1.000" BZ14 1 Hex Nut 1 .0421b
B2472 1 1.000" 1 Roll-In T-Nut with Flex Handle 1 .060 Ib
[=3843 1 1.000" 1 Roll-In T-Nut with Flex Handle — — .056 Ib
1 1.000" 1 Roll-In T-Nut with Flex Handle 1 .060 Ib
B2 1 e S 1.000" 1 Slide-In Economy T-Nut - Offset Thread 1 051 1b
Be4* 1 1.000" 1 Slide-In Economy T-Nut - Offset Thread 3550 1 044 1b
" 753849 B2 1 1.000" 1 Slide-In Economy T-Nut - Offset Thread — — 046 Ib
o 1 1.000" 1 Slide-In Economy T-Nut - Offset Thread 1 .0511b
§ B3 1 1.300" 1 Slide-In Economy T-Nut - Offset Thread 1 .056 Ib
2 B222 1 1.500" 1 Slide-In Economy T-Nut - Offset Thread 1 0411b
- 1 1.500” 1 Slide-In Economy T-Nut - Offset Thread — — .056 Ib
° BZ73 1 1.750" 1 Slide-In Economy T-Nut - Offset Thread 1 .065 Ib
1 1.750" 1 Flanged Hex Nut 1 .060 Ib
1 2.000" B273 1 Slide-In Economy T-Nut - Offset Thread 1 0701b
1 2.000” 1 Flanged Hex Nut 1 .064 Ib
B422 BT3A 1 2.250" B273 1 Slide-In Economy T-Nut - Offset Thread — — 0721b
¢y 1 2.500" 1 Slide-In Economy T-Nut - Offset Thread 1 080 1b
" BT 1 2.500" 273 1 Slide-In Economy T-Nut - Offset Thread — — 0761b
o B33 1 3.000" 1 Slide-In Economy T-Nut - Offset Thread — — .086 Ib
8 B2 B2 1 3.250” 273 1 Slide-In Economy T-Nut - Offset Thread — — 093 Ib
) *Assembly comprised of stainless steel (SS) hardware
®
D% 3/8-16 Socket Head Cap Screw (SHCS)
1 SHCS 3/8-16 1.000” — - - 1 .051 b
8-32 Button Head Socket Cap Screw (BHSCS)
% B483 1 BHSCS 430 375" 1 Slide-In Economy T-Nut - Centered Thread — — 016 Ib
A 1 500" 0 1 8-32 Hex Nut 1 .001 Ib
5}
g 10-32 Button Head Socket Cap Screw (BHSCS)
8 Bol
. 042 1 375" 1 Standard Slide-In T-Nut — — 0111b
6281 1 BHSCS 10-32 500" 1 Standard Slide-In T-Nut — — .030 b
(288 B0 1 625" ¢l ] 1 Hex Nut 3057 1 .008 Ib

10-32 Socket Head Cap Screw (SHCS)

S 6457 G044 1 s - 378" Bzr8 1 Slide-In Economy T-Nut - Centered Thread — - 0131b
Sz_s 1 ’ 625" 1 Hex Nut 1 008 b
(2]
o))
£
© t
o 80,20 More on 80/20° products
om [ ) .
available at 3020.nei
° 3-198 2’ BUILD YOUR IDEA



http://8020.net
https://8020.net/75-3849.html
https://8020.net/3112.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/3455.html
https://8020.net/3112.html
https://8020.net/3278.html
https://8020.net/3466.html
https://8020.net/3112.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3640.html
https://8020.net/3615.html
https://8020.net/3678.html
https://8020.net/3659.html
https://8020.net/75-3842.html
https://8020.net/3112.html
https://8020.net/3278.html
https://8020.net/75-3848.html
https://8020.net/3112.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3446.html
https://8020.net/3119.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3460.html
https://8020.net/3119.html
https://8020.net/3282.html
https://8020.net/3458.html
https://8020.net/3119.html
https://8020.net/3278.html
https://8020.net/3638.html
https://8020.net/3619.html
https://8020.net/3678.html
https://8020.net/3473.html
https://8020.net/3122.html
https://8020.net/3214.html
https://8020.net/3260.html
https://8020.net/3472.html
https://8020.net/3122.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/75-3845.html
https://8020.net/3122.html
https://8020.net/3282.html
https://8020.net/75-3851.html
https://8020.net/3122.html
https://8020.net/3282.html
https://8020.net/3260.html
https://8020.net/3470.html
https://8020.net/3122.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3642.html
https://8020.net/3622.html
https://8020.net/3678.html
https://8020.net/3659.html
https://8020.net/75-3844.html
https://8020.net/3122.html
https://8020.net/3278.html
https://8020.net/75-3850.html
https://8020.net/3122.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3421.html
https://8020.net/3123.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3422.html
https://8020.net/3127.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3613.html
https://8020.net/3127.html
https://8020.net/3278.html
https://8020.net/3423.html
https://8020.net/3129.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3972.html
https://8020.net/3955.html
https://8020.net/3759.html
https://8020.net/3760.html
https://8020.net/3424.html
https://8020.net/3130.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3962.html
https://8020.net/3956.html
https://8020.net/3759.html
https://8020.net/3760.html
https://8020.net/3427.html
https://8020.net/3131.html
https://8020.net/3278.html
https://8020.net/3428.html
https://8020.net/3132.html
https://8020.net/3278.html
https://8020.net/3260.html
https://8020.net/3429.html
https://8020.net/3132.html
https://8020.net/3278.html
https://8020.net/3430.html
https://8020.net/3133.html
https://8020.net/3278.html
https://8020.net/3431.html
https://8020.net/3140.html
https://8020.net/3278.html
https://8020.net/3483.html
https://8020.net/3005.html
https://8020.net/3275.html
https://8020.net/3489.html
https://8020.net/3024.html
https://8020.net/3007.html
https://8020.net/3006.html
https://8020.net/3426.html
https://8020.net/3042.html
https://8020.net/3205.html
https://8020.net/3487.html
https://8020.net/3050.html
https://8020.net/3201.html
https://8020.net/3488.html
https://8020.net/3051.html
https://8020.net/3053.html
https://8020.net/3055.html
https://8020.net/3457.html
https://8020.net/3044.html
https://8020.net/3276.html
https://8020.net/3459.html
https://8020.net/3052.html
https://8020.net/3053.html
https://8020.net/3055.html
https://8020.net/3289.html
https://8020.net/3124.html
https://8020.net/3261.html

Bolt Assemblies (Continued)

M6 x 1.0 Button Head Socket Cap Screw (BHSCS)

g 363 2

=
]
a
=

=323 36310
[75-3640 531
[=6310
[6310
[75-3402 36310
=351 =631
=631
23510 36312
3631
(36312
23238 3631
3802

Cieiop

[75-3439 6312
=32m 36311
36312
/53513 6312
23518 6312
6312
753603 5314
[T6314
KL
[75-3602 16314
16314
36318
3232 36318
G822

=320 36318
[75-3400 36314
3304

36318
=3280 36318
[T6318
=31 6318
=327 36319
[T6318
23252 [T6318
[75-3468 136320
G808

=323
=328
=321
A=3210 13-6320
3829 3800

More on 80/20° products

available at 3020.nei

1
1
1
1
1
1
1
2
2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

BHSCS

)

10.00mm
10.00mm B87d
10.00mm P5-1064d
10.00mm
10.00mm
10.00mm 3850
10.00mm
10.00mm
12.00mm P5-T962
12.00mm
12.00mm
12.00mm B87d
12.00mm B873
12.00mm B87d
12.00mm B873
12.00mm
12.00mm
12.00mm 3850
12.00mm
12.00mm
14.00mm [11-6007
14.00mm
M6 X 1.0 14.00mm (iK¥kE|
14.00mm
14.00mm 3119
16.00mm
16.00mm B878
16.00mm B87d
16.00mm B878
16.00mm 3850
16.00mm B539
16.00mm
16.00mm 0-1961
16.00mm
16.00mm
16.00mm —
18.00mm
18.00mm
20.00mm [13-8067
20.00mm B878
20.00mm B878
20.00mm B878
20.00mm
20.00mm
25.00mm B873

80/20

BUILD YOUR IDEA

1

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Hardware #3%

Double Slide-In Economy T-Nut
Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle

Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Standard Drop-In T-Nut
Double Slide-In Economy T-Nut
Double Slide-In Economy T-Nut
Hex Nut
Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle
Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Standard Drop-In T-Nut
Hex Nut
Roll-In T-Nut with Flex Handle
Standard Drop-In T-Nut
Standard Drop-In T-Nut
Standard Drop-In T-Nut
Hex Nut

Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle

Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread

Hex Nut

Standard Drop-In T-Nut

Hex Nut

Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle
Roll-In T-Nut with Flex Handle

Slide-In Economy T-Nut - Centered Thread
Slide-In Economy T-Nut - Centered Thread
Roll-In T-Nut with Flex Handle

[13-0041

36041
36041

[11-0041

[13-004

[13-004

3501
[13-004
[13-004

[11-004
[15-004
[11-004

[13-004

G281

[13-0041

36041

!'!!!'!!I'IE'!III|||

1

1
1

1
1
1

1
1
1

1
1

1

1
1

033 1b
014 1b
0181b
0121b
014 1b
030 b
0321b
0121b
034 b
038 Ib
014 1b
0151b
0171b
0151b
0161b
016 b
0191b
017 b
014 1b
014 1b
0131b
0151b
0151b
023 b
0151b
014 1b
0151b
0181b
0161b
0191b
028 Ib
017 b
028 Ib
020 b
020 b
0101b
054 Ib
024 b
0171b
020 Ib
0181b
020 b
0191b
0211b
022 b

3-199

0¢/08 S! 1eYM

14

sa|ljold

slauaise e

sl0o( g sjpued ¥

S

1994 g sle1se)

S10AId g sBulleag ¢


http://8020.net
https://8020.net/75-3509.html
https://8020.net/13-6310.html
https://8020.net/25-1962.html
https://8020.net/75-3435.html
https://8020.net/13-6310.html
https://8020.net/3876.html
https://8020.net/75-3640.html
https://8020.net/11-6310.html
https://8020.net/25-1966.html
https://8020.net/75-3641.html
https://8020.net/11-6310.html
https://8020.net/25-1966.html
https://8020.net/75-3642.html
https://8020.net/11-6310.html
https://8020.net/25-1966.html
https://8020.net/75-3404.html
https://8020.net/13-6310.html
https://8020.net/3859.html
https://8020.net/75-3515.html
https://8020.net/11-6310.html
https://8020.net/3859.html
https://8020.net/75-3599.html
https://8020.net/11-6310.html
https://8020.net/3931.html
https://8020.net/75-3510.html
https://8020.net/13-6312.html
https://8020.net/25-1962.html
https://8020.net/75-3511.html
https://8020.net/13-6312.html
https://8020.net/25-1962.html
https://8020.net/13-6041.html
https://8020.net/75-3466.html
https://8020.net/13-6312.html
https://8020.net/13-6065.html
https://8020.net/13-6041.html
https://8020.net/75-3436.html
https://8020.net/13-6312.html
https://8020.net/3876.html
https://8020.net/3824.html
https://8020.net/3802.html
https://8020.net/3876.html
https://8020.net/3861.html
https://8020.net/3867.html
https://8020.net/3802.html
https://8020.net/3876.html
https://8020.net/75-3439.html
https://8020.net/13-6312.html
https://8020.net/3876.html
https://8020.net/13-6041.html
https://8020.net/75-3405.html
https://8020.net/13-6312.html
https://8020.net/3859.html
https://8020.net/75-3408.html
https://8020.net/13-6312.html
https://8020.net/3859.html
https://8020.net/13-6041.html
https://8020.net/75-3516.html
https://8020.net/11-6312.html
https://8020.net/3859.html
https://8020.net/75-3518.html
https://8020.net/11-6312.html
https://8020.net/3859.html
https://8020.net/11-6041.html
https://8020.net/75-3600.html
https://8020.net/11-6312.html
https://8020.net/3931.html
https://8020.net/75-3603.html
https://8020.net/11-6314.html
https://8020.net/11-6065.html
https://8020.net/75-3643.html
https://8020.net/11-6314.html
https://8020.net/25-1966.html
https://8020.net/75-3601.html
https://8020.net/11-6314.html
https://8020.net/13119.html
https://8020.net/75-3602.html
https://8020.net/11-6314.html
https://8020.net/13129.html
https://8020.net/75-3622.html
https://8020.net/11-6314.html
https://8020.net/13119.html
https://8020.net/75-3467.html
https://8020.net/13-6316.html
https://8020.net/13-6065.html
https://8020.net/13-6041.html
https://8020.net/75-3437.html
https://8020.net/13-6316.html
https://8020.net/3876.html
https://8020.net/3827.html
https://8020.net/3804.html
https://8020.net/3876.html
https://8020.net/3861.html
https://8020.net/75-3440.html
https://8020.net/13-6316.html
https://8020.net/3876.html
https://8020.net/13-6041.html
https://8020.net/75-3406.html
https://8020.net/13-6316.html
https://8020.net/3859.html
https://8020.net/3826.html
https://8020.net/3804.html
https://8020.net/3836.html
https://8020.net/3861.html
https://8020.net/75-3409.html
https://8020.net/13-6316.html
https://8020.net/3859.html
https://8020.net/13-6041.html
https://8020.net/75-3480.html
https://8020.net/13-6316.html
https://8020.net/40-1961.html
https://8020.net/13-6041.html
https://8020.net/75-3517.html
https://8020.net/11-6316.html
https://8020.net/3859.html
https://8020.net/75-3519.html
https://8020.net/11-6316.html
https://8020.net/3859.html
https://8020.net/11-6041.html
https://8020.net/75-3477.html
https://8020.net/13-6316.html
https://8020.net/13-6041.html
https://8020.net/75-3605.html
https://8020.net/11-6318.html
https://8020.net/11-6065.html
https://8020.net/11-6041.html
https://8020.net/75-3482.html
https://8020.net/11-6318.html
https://8020.net/13129.html
https://8020.net/75-3468.html
https://8020.net/13-6320.html
https://8020.net/13-6065.html
https://8020.net/13-6041.html
https://8020.net/3850.html
https://8020.net/3808.html
https://8020.net/3876.html
https://8020.net/3861.html
https://8020.net/75-3438.html
https://8020.net/13-6320.html
https://8020.net/3876.html
https://8020.net/75-3441.html
https://8020.net/13-6320.html
https://8020.net/3876.html
https://8020.net/13-6041.html
https://8020.net/75-3407.html
https://8020.net/13-6320.html
https://8020.net/3859.html
https://8020.net/75-3410.html
https://8020.net/13-6320.html
https://8020.net/3859.html
https://8020.net/13-6041.html
https://8020.net/3829.html
https://8020.net/3809.html
https://8020.net/3876.html
https://8020.net/3861.html

o K
S ¢ Hardware
P
-
§ Bolt Assemblies (Continued)
M6 x 1.0 Flat Head Socket Cap Screw (FHSCS)
| pssyNo | Bt | ay | sotype | Teadsie | Botlengn | Nt oy ] tunpe ] waster | Gy | weont |
2 10.00mm 2 Slide-In Economy T-Nut - Centered Thread — — 016 1b
1 12.00mm <tays| 1 Roll-In T-Nut with Flex Handle — — 015 b
[/5-36447 1 12.00mm Ph-1960 1 Roll-In T-Nut with Flex Handle — — .0141b
1 12.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 016 Ib
753630 1 12.00mm B873 1 Standard Slide-In T-Nut — - 014 1b
8 =364 15713 1 14.00mm B873 1 Standard Slide-In T-Nut — — 011 1b
= 1 14.00mm v 1 Standard Slide-In T-Nut - - 011lb
a [T-712 1 14.00mm 1 Standard Drop-In T-Nut — — 0151b
~ [/5-3647% [[1-6710 1 FHSCS M6 X 1.0 16.00mm P5-1064 1 Roll-In T-Nut with Flex Handle — — .0111b
1 16.00mm 1 Roll-In T-Nut with Flex Handle — — .026 Ib
[75-3001 1 16.00mm 3™ 1 Standard Drop-In T-Nut — — .016 Ib
75-3584 16718 1 18.00mm 1 Standard Drop-In T-Nut — — 011 1b
1 18.00mm 3T 1 Standard Drop-In T-Nut — — 0121b
[/5-358% 1 20.00mm 1 Hex Nut 1 .0111b
[/5-3644 [[1-6720 1 20.00mm P 1 Roll-In T-Nut with Flex Handle — — 017 1b
[75-3657 16720 1 20.00mm 1 Roll-In T-Nut with Flex Handle — — .026 b
" 1 20.00mm 1 Standard Drop-In T-Nut — — 011 1b
2 M6 x 1.0 Socket Head Cap Screw (SHCS)
©
- | AssyNo | Bot | ay | Botype | Theassie | Bottengn | Nt oy | Nape [ Wesher | Gy | Wegnt |
° 3242 1 10.00mm 1 Roll-In T-Nut with Flex Handle — — 0141b
1 10.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 019 b
| rdoerinii | (35510 1 10.00mm Chte 1 Slide-In Economy T-Nut - Centered Thread — — .0191b
1 10.00mm 1 Standard Drop-In T-Nut — — 017 b
/53463 1 12.00mm 1 Hex Nut 1 016 1b
6833 <1310k 1 12.00mm G878 1 Roll-In T-Nut with Flex Handle — — 022 Ib
- 1 12.00mm 1 Roll-In T-Nut with Flex Handle 1 .020 Ib
o 1 12.00mm B8 1 Roll-In T-Nut with Flex Handle — — 014 b
8 [/5-3450 [13-6512 1 12.00mm 1 Roll-In T-Nut with Flex Handle 1 .020 Ib
I 1 12.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 0191b
% 1 12.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 020 Ib
= B84 {1108 1 12.00mm 1 Slide-In Economy T-Nut - Centered Thread - - 022 1b
& 534 1 12.00mm 1 Slide-In Economy T-Nut - Centered Thread 1 0221b
~ 1 SHCS M6 X 1.0 12.00mm 1 Standard Drop-In T-Nut = = 020 Ib
[/5-3507 (16514 1 14.00mm 1 Standard Slide-In T-Nut — — .0121b
1 14.00mm 1 Standard Drop-In T-Nut — — 0181b
[/5-3502 1 14.00mm 13129 1 Standard Drop-In T-Nut - - 0121b
[5-3471 [3-6510 1 16.00mm 1 Hex Nut 1 018 Ib
1 16.00mm 1 Roll-In T-Nut with Flex Handle 1 .022 b
% 1 16.00mm B874 1 Roll-In T-Nut with Flex Handle — — .015 b
e | rdoerings| (36513 1 16.00mm 1 Roll-In T-Nut with Flex Handle [[3-6041 1 .022 b
03 1 16.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 017 b
E 1 16.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 0211b
© BEA B30 1 16.00mm 1 Slide-In Economy T-Nut - Centered Thread — — .029 Ib
© 1 16.00mm 1 Slide-In Economy T-Nut - Centered Thread 1 0331b
0 [5-3507 1 16.00mm 1 Standard Drop-In T-Nut — — 019 1b
[70-3500 116513 1 18.00mm 3931 1 Standard Drop-In T-Nut — — .0191b
8
2
o
(]
o)
£
=
g 0?“ 80,20 More on 80/20° products
available at 3020.net
° 3-200 2’ BUILD YOUR IDEA



http://8020.net
https://8020.net/75-3541.html
https://8020.net/13-6710.html
https://8020.net/25-1961.html
https://8020.net/75-3505.html
https://8020.net/13-6712.html
https://8020.net/3876.html
https://8020.net/75-3645.html
https://8020.net/13-6712.html
https://8020.net/25-1966.html
https://8020.net/75-3507.html
https://8020.net/13-6712.html
https://8020.net/3859.html
https://8020.net/75-3639.html
https://8020.net/17-6712.html
https://8020.net/3873.html
https://8020.net/75-3616.html
https://8020.net/11-6714.html
https://8020.net/3873.html
https://8020.net/75-3584.html
https://8020.net/11-6714.html
https://8020.net/3873.html
https://8020.net/75-3585.html
https://8020.net/11-6714.html
https://8020.net/3931.html
https://8020.net/75-3647.html
https://8020.net/11-6716.html
https://8020.net/25-1966.html
https://8020.net/75-3655.html
https://8020.net/11-6716.html
https://8020.net/40-1966.html
https://8020.net/75-3591.html
https://8020.net/11-6716.html
https://8020.net/13119.html
https://8020.net/75-3587.html
https://8020.net/11-6718.html
https://8020.net/13129.html
https://8020.net/75-3628.html
https://8020.net/11-6718.html
https://8020.net/13119.html
https://8020.net/75-3589.html
https://8020.net/11-6720.html
https://8020.net/11-6065.html
https://8020.net/11-6041.html
https://8020.net/75-3644.html
https://8020.net/11-6720.html
https://8020.net/25-1966.html
https://8020.net/75-3654.html
https://8020.net/11-6720.html
https://8020.net/40-1966.html
https://8020.net/75-3588.html
https://8020.net/11-6720.html
https://8020.net/13129.html
https://8020.net/75-3442.html
https://8020.net/13-6510.html
https://8020.net/3876.html
https://8020.net/75-3520.html
https://8020.net/11-6510.html
https://8020.net/3859.html
https://8020.net/75-3411.html
https://8020.net/13-6510.html
https://8020.net/3859.html
https://8020.net/75-3590.html
https://8020.net/11-6510.html
https://8020.net/3931.html
https://8020.net/75-3469.html
https://8020.net/13-6512.html
https://8020.net/13-6065.html
https://8020.net/13-6041.html
https://8020.net/3833.html
https://8020.net/3801.html
https://8020.net/3876.html
https://8020.net/3849.html
https://8020.net/3801.html
https://8020.net/3876.html
https://8020.net/3861.html
https://8020.net/75-3443.html
https://8020.net/13-6512.html
https://8020.net/3876.html
https://8020.net/75-3450.html
https://8020.net/13-6512.html
https://8020.net/3876.html
https://8020.net/13-6041.html
https://8020.net/75-3412.html
https://8020.net/13-6512.html
https://8020.net/3859.html
https://8020.net/75-3521.html
https://8020.net/11-6512.html
https://8020.net/3859.html
https://8020.net/3831.html
https://8020.net/3801.html
https://8020.net/3836.html
https://8020.net/75-3419.html
https://8020.net/13-6512.html
https://8020.net/3859.html
https://8020.net/13-6041.html
https://8020.net/75-3598.html
https://8020.net/11-6512.html
https://8020.net/3931.html
https://8020.net/75-3592.html
https://8020.net/11-6514.html
https://8020.net/3873.html
https://8020.net/75-3593.html
https://8020.net/11-6514.html
https://8020.net/3931.html
https://8020.net/75-3594.html
https://8020.net/11-6514.html
https://8020.net/13129.html
https://8020.net/75-3470.html
https://8020.net/13-6516.html
https://8020.net/13-6065.html
https://8020.net/13-6041.html
https://8020.net/3856.html
https://8020.net/3803.html
https://8020.net/3876.html
https://8020.net/3861.html
https://8020.net/75-3444.html
https://8020.net/13-6516.html
https://8020.net/3876.html
https://8020.net/75-3451.html
https://8020.net/13-6516.html
https://8020.net/3876.html
https://8020.net/13-6041.html
https://8020.net/75-3413.html
https://8020.net/13-6516.html
https://8020.net/3859.html
https://8020.net/75-3522.html
https://8020.net/11-6516.html
https://8020.net/3859.html
https://8020.net/3835.html
https://8020.net/3803.html
https://8020.net/3836.html
https://8020.net/75-3420.html
https://8020.net/13-6516.html
https://8020.net/3859.html
https://8020.net/13-6041.html
https://8020.net/75-3595.html
https://8020.net/11-6516.html
https://8020.net/3931.html
https://8020.net/75-3596.html
https://8020.net/11-6518.html
https://8020.net/3931.html

Hardware #3%

Bolt Assemblies (Continued)

M6 x 1.0 Socket Head Cap Screw (SHCS)

Sleys| 1 _ _

B842 380 1 20.00mm Roll-In T-Nut with Flex Handle .0211b
3803 1 20.00mm B878 1 Roll-In T-Nut with Flex Handle B84 1 023 b
53273 [3-0520 1 20.00mm B878 1 Roll-In T-Nut with Flex Handle — — .0211b
GIok:| 1 20.00mm 1 Slide-In Economy T-Nut - Centered Thread = = 0221b
=321 1 20.00mm elelste 1 Slide-In Economy T-Nut - Centered Thread — — 0221b
[/5-3573 16520 1 20.00mm 3809 1 Slide-In Economy T-Nut - Centered Thread — — 029 Ib
753507 1 20.00mm 1 Standard Drop-In T-Nut — — 0101b
683 B0 1 25.00mm G878 1 Roll-In T-Nut with Flex Handle — — 023 1b
3502 1 25.00mm B878 1 Roll-In T-Nut with Flex Handle 3801 1 025 1b
==3274 1 SHCS M6 X 1.0 25.00mm G878 1 Roll-In T-Nut with Flex Handle — — .023 Ib
=321 1 25.00mm 3859 1 Slide-In Economy T-Nut - Centered Thread — — 024 1b
B8 B30 1 25.00mm B83d 1 Slide-In Economy T-Nut - Centered Thread — — .0311b
753577 1 25.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 0311b
=371 1 30.00mm G878 1 Roll-In T-Nut with Flex Handle = = 0251b
3214 13-6530 1 30.00mm 3859 1 Slide-In Economy T-Nut - Centered Thread — — .030 Ib
=373 1 35.00mm G878 1 Roll-In T-Nut with Flex Handle = = 0291b
=311 1 35.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 029 b
A32743 [13-6540] 1 40.00mm B878 1 Roll-In T-Nut with Flex Handle — — .030 Ib
=318 136540 1 40.00mm 1 Slide-In Economy T-Nut - Centered Thread — — .036 Ib

M8 x 1.25 Button Head Socket Cap Screw (BHSCS)

1 — —

75-3512 3831 2 12.00mm Double Slide-In Economy T-Nut 094 Ib
3831 1 12.00mm B84 1 Roll-In T-Nut with Flex Handle — — .036 Ib
[/5-3679 8313 1 12.00mm 1 Roll-In T-Nut with Flex Handle — — .036 Ib
831 1 12.00mm 1 Self-Aligning Roll-In T-Nut — — 0221b
3831 1 12.00mm 1 Slide-In Economy T-Nut - Offset Thread - — 036 Ib
AT=8312 1 12.00mm B33 1 Slide-In Economy T-Nut - Offset Thread — — .036 b
38318 2 16.00mm 1 Double Slide-In Economy T-Nut - — .099 b
(KRl ) 16.00mm A0-T982 1 Double Slide-In Economy T-Nut 2 105 1b
=3 i I 16.00mm 1 Hex Nut 11 .0301b
B832 1 16.00mm B84 1 Roll-In T-Nut with Flex Handle 1 .042 b
38314 1 16.00mm [stim) 1 Roll-In T-Nut with Flex Handle — — 039 b
[/5-3458 38314 1 16.00mm B84 1 Roll-In T-Nut with Flex Handle 1 .042 b
831 1 BHSCS M8 X1.25 16.00mm 1 Roll-In T-Nut with Flex Handle - - 0391b
38318 1 16.00mm 833 1 Slide-In Economy T-Nut - Offset Thread — — .038 b
[75-34723 38318 1 16.00mm 1 Slide-In Economy T-Nut - Offset Thread 1 0411b
[T=831d 1 16.00mm 833 1 Slide-In Economy T-Nut - Offset Thread — — .038 b
=831 1 16.00mm 1 Slide-In Economy T-Nut - Offset Thread 1 042 b
1 16.00mm B838 1 Slide-In Economy T-Nut - Offset Thread 1 .041 b
=831 1 18.00mm 1 Roll-In T-Nut with Flex Handle — — 040 Ib
[T=8319 1 18.00mm 3132 1 Standard Drop-In T-Nut — — 024 b
[[5-3472 1 20.00mm 1 Hex Nut y 1 032 1b
2 20.00mm B87™ 1 Double Slide-In Economy T-Nut 2 .093 Ib
B8 1 20.00mm [stim) 1 Roll-In T-Nut with Flex Handle 1 044 b
[75-3454 [13-8320 1 20.00mm B84 1 Roll-In T-Nut with Flex Handle — — .041 b
More on 80/20° products 0?0 80/20
available at 3020.nei
2"’ BUILD YOUR IDEA 3-201

l

0¢/08 S! 1eYM

14

sa|ljold

slauaise e

sl0o( g sjpued ¥

S

1994 g sle1se)

S10AId g sBulleag ¢


http://8020.net
https://8020.net/3847.html
https://8020.net/3806.html
https://8020.net/3876.html
https://8020.net/3855.html
https://8020.net/3806.html
https://8020.net/3876.html
https://8020.net/3861.html
https://8020.net/75-3445.html
https://8020.net/13-6520.html
https://8020.net/3876.html
https://8020.net/3035.html
https://8020.net/13-6520.html
https://8020.net/3859.html
https://8020.net/75-3414.html
https://8020.net/13-6520.html
https://8020.net/3859.html
https://8020.net/75-3523.html
https://8020.net/11-6520.html
https://8020.net/3859.html
https://8020.net/75-3597.html
https://8020.net/11-6520.html
https://8020.net/13129.html
https://8020.net/3845.html
https://8020.net/3807.html
https://8020.net/3876.html
https://8020.net/3862.html
https://8020.net/3807.html
https://8020.net/3876.html
https://8020.net/3861.html
https://8020.net/75-3446.html
https://8020.net/13-6525.html
https://8020.net/3876.html
https://8020.net/75-3415.html
https://8020.net/13-6525.html
https://8020.net/3859.html
https://8020.net/3841.html
https://8020.net/3807.html
https://8020.net/3836.html
https://8020.net/75-3524.html
https://8020.net/11-6525.html
https://8020.net/3859.html
https://8020.net/75-3447.html
https://8020.net/13-6530.html
https://8020.net/3876.html
https://8020.net/75-3416.html
https://8020.net/13-6530.html
https://8020.net/3859.html
https://8020.net/75-3448.html
https://8020.net/13-6535.html
https://8020.net/3876.html
https://8020.net/75-3417.html
https://8020.net/13-6535.html
https://8020.net/3859.html
https://8020.net/75-3449.html
https://8020.net/13-6540.html
https://8020.net/3876.html
https://8020.net/75-3418.html
https://8020.net/13-6540.html
https://8020.net/3859.html
https://8020.net/75-3512.html
https://8020.net/13-8312.html
https://8020.net/40-1982.html
https://8020.net/75-3452.html
https://8020.net/13-8312.html
https://8020.net/3842.html
https://8020.net/75-3649.html
https://8020.net/11-8312.html
https://8020.net/40-1986.html
https://8020.net/75-3615.html
https://8020.net/11-8312.html
https://8020.net/13094.html
https://8020.net/75-3421.html
https://8020.net/13-8312.html
https://8020.net/3838.html
https://8020.net/75-3525.html
https://8020.net/11-8312.html
https://8020.net/3838.html
https://8020.net/75-3513.html
https://8020.net/13-8316.html
https://8020.net/40-1982.html
https://8020.net/75-3514.html
https://8020.net/13-8316.html
https://8020.net/40-1982.html
https://8020.net/13-6042.html
https://8020.net/75-3471.html
https://8020.net/13-8316.html
https://8020.net/13-8065.html
https://8020.net/13-6042.html
https://8020.net/3832.html
https://8020.net/3813.html
https://8020.net/3842.html
https://8020.net/3860.html
https://8020.net/75-3453.html
https://8020.net/13-8316.html
https://8020.net/3842.html
https://8020.net/75-3456.html
https://8020.net/13-8316.html
https://8020.net/3842.html
https://8020.net/13-6042.html
https://8020.net/75-3650.html
https://8020.net/11-8316.html
https://8020.net/40-1986.html
https://8020.net/75-3422.html
https://8020.net/13-8316.html
https://8020.net/3838.html
https://8020.net/75-3425.html
https://8020.net/13-8316.html
https://8020.net/3838.html
https://8020.net/13-6042.html
https://8020.net/75-3526.html
https://8020.net/11-8316.html
https://8020.net/3838.html
https://8020.net/75-3528.html
https://8020.net/11-8316.html
https://8020.net/3838.html
https://8020.net/11-6042.html
https://8020.net/3830.html
https://8020.net/3813.html
https://8020.net/3838.html
https://8020.net/3860.html
https://8020.net/75-3651.html
https://8020.net/11-8318.html
https://8020.net/40-1986.html
https://8020.net/75-3619.html
https://8020.net/11-8318.html
https://8020.net/13132.html
https://8020.net/75-3472.html
https://8020.net/13-8320.html
https://8020.net/13-8065.html
https://8020.net/13-6042.html
https://8020.net/3863.html
https://8020.net/3815.html
https://8020.net/3879.html
https://8020.net/3860.html
https://8020.net/3872.html
https://8020.net/3815.html
https://8020.net/3842.html
https://8020.net/3860.html
https://8020.net/75-3454.html
https://8020.net/13-8320.html
https://8020.net/3842.html

o K A
S # Hardware
v
© . .
< Bolt Assemblies (Continued)
M8 x 1.25 Button Head Socket Cap Screw (BHSCS)
1 20.00mm [stiw) 1 Roll-In T-Nut with Flex Handle 1 045 1b
[11-8320 1 20.00mm EO0-T98d 1 Roll-In T-Nut with Flex Handle — — .032 b
3870 B81{ 1 20.00mm 1 Slide-In Economy T-Nut - Offset Thread 1 044 Ib
1 20.00mm B838 1 Slide-In Economy T-Nut - Offset Thread — — 041 Ib
[75-3479 1 20.00mm 3539 1 Slide-In Economy T-Nut - Offset Thread 1 044 b
b 1 20.00mm B838 1 Slide-In Economy T-Nut - Offset Thread — — .0311b
“’_8 1 20.00mm 1 Slide-In Economy T-Nut - Offset Thread 1 0351b
o 1 20.00mm — — - 1 0231b
~ 3880  ctefiie] 1 BHSCS M8 X 1.25 25.00mm [stiw) 1 Roll-In T-Nut with Flex Handle 1 049 b
1 25.00mm B84 1 Roll-In T-Nut with Flex Handle — — .044 b
1 25.00mm [stiw) 1 Roll-In T-Nut with Flex Handle 2 1 .048 Ib
B872 1 25.00mm B838 1 Slide-In Economy T-Nut - Offset Thread 3560 1 043 b
1 25.00mm 1 Slide-In Economy T-Nut - Offset Thread 1 047 Ib
1 25.00mm 1 Hex Nut 1 0351b
3072 [[3-3047 1 45.00mm 1 Flanged Hex Nut 3550 1 .058 Ib
[[3-3040 1 50.00mm 1 Flanged Hex Nut 1 .0611b

M8 x 1.25 Flanged Hex Head Bolt

Bolt Bolt Type Thread Size | Bolt Length Nut Type Weight
33773 1 1 _ _

Flanged Hex Head Bolt M8 x 1.25 50.00mm Flanged Hex Nut 0771b

(%]
—
[}
<
[}
s}
(2]
Vi
39603

M8 x 1.25 Flat Head Socket Cap Screw (FHSCS)

1 — —

Bolt
liKEYAL]

1 16.00mm 1 Roll-In T-Nut with Flex Handle 0291b
iEyAL:] 1 16.00mm =08 1 Roll-In T-Nut with Flex Handle — — 0361b
M8 1 16.00mm 1 Self-Aligning Slide-In T-Nut — — 0311b
(2]
5 753500 B[ 1 FHSCS M8 X 1.25 16.00mm 1 Slide-In Economy T-Nut - Offset Thread — — 0281b
8 [A=3618 [=8718 1 16.00mm E0T981 1 Slide-In Economy T-Nut - Offset Thread — — 036 1b
5] =361 1 20.00mm 1 Hex Nut — — 028 Ib
— 1 20.00mm T8 1 Roll-In T-Nut with Flex Handle — — 0241b
ks
M8 x 1.25 Slide-In Flanged Economy T-Slot Stud
<
Bolt Bolt Type Thread Size Bolt Length Nut Type Weight
¢rifex | 1 20.00mm 1 Hex Nut 1 0421b
1 20.00mm A 1 Hex Nut 1 .0401b
1 1 20.00mm 1 Hex Nut 1 0401b
753500 1 20.00mm B8 1 Hex Nut 1 .040 Ib
15} et 1 25.00mm 1 Hex Nut 1 0431b
i TR0 1 2500m BB 1 Hex Nut 1 0431
03 . cieisk| 1 Slide-In Flanged Economy T-Slot Stud M8 X 1.25 30.00mm 1 Hex Nut 1 046 Ib
o) 1 30.00mm cf:v I Hex Nut 1 .046 b
2 Em 30.000m 1 Hex Nut 1 o6l
O 3833 1 35.00mm B8 1 Hex Nut 1 .0511b
o 1 35.00mm 1 Hex Nut 1 0511b
1 45,00mm A 1 Hex Nut 1 .0581b
55 cictov 1 45.00mm 1 Hex Nut 1 0581b
8
o
2
o
S
(2]
()}
=
M
o ' 80,20 More on 80/20° products
o [ ) .
available at 3020.net
° 3-202 2’ 5uiLd YOUR IDEA



http://8020.net
https://8020.net/75-3457.html
https://8020.net/13-8320.html
https://8020.net/3842.html
https://8020.net/13-6042.html
https://8020.net/75-3648.html
https://8020.net/11-8320.html
https://8020.net/40-1986.html
https://8020.net/3870.html
https://8020.net/3815.html
https://8020.net/3838.html
https://8020.net/3860.html
https://8020.net/75-3423.html
https://8020.net/13-8320.html
https://8020.net/3838.html
https://8020.net/75-3426.html
https://8020.net/13-8320.html
https://8020.net/3838.html
https://8020.net/13-6042.html
https://8020.net/75-3527.html
https://8020.net/11-8320.html
https://8020.net/3838.html
https://8020.net/75-3529.html
https://8020.net/11-8320.html
https://8020.net/3838.html
https://8020.net/11-6042.html
https://8020.net/75-3478.html
https://8020.net/13-8320.html
https://8020.net/13-6042.html
https://8020.net/3886.html
https://8020.net/3819.html
https://8020.net/3842.html
https://8020.net/3860.html
https://8020.net/75-3455.html
https://8020.net/13-8325.html
https://8020.net/3842.html
https://8020.net/75-3458.html
https://8020.net/13-8325.html
https://8020.net/3842.html
https://8020.net/13-6042.html
https://8020.net/3877.html
https://8020.net/3819.html
https://8020.net/3838.html
https://8020.net/3860.html
https://8020.net/75-3427.html
https://8020.net/13-8325.html
https://8020.net/3838.html
https://8020.net/13-6042.html
https://8020.net/75-3473.html
https://8020.net/13-8325.html
https://8020.net/13-8065.html
https://8020.net/13-6042.html
https://8020.net/3974.html
https://8020.net/13-3945.html
https://8020.net/13-3759.html
https://8020.net/3860.html
https://8020.net/3964.html
https://8020.net/13-3946.html
https://8020.net/13-3759.html
https://8020.net/3860.html
https://8020.net/75-3506.html
https://8020.net/13-8716.html
https://8020.net/3842.html
https://8020.net/75-3653.html
https://8020.net/11-8716.html
https://8020.net/40-1986.html
https://8020.net/75-3629.html
https://8020.net/11-8716.html
https://8020.net/13025.html
https://8020.net/75-3508.html
https://8020.net/13-8716.html
https://8020.net/3838.html
https://8020.net/75-3618.html
https://8020.net/11-8716.html
https://8020.net/40-1981.html
https://8020.net/75-3617.html
https://8020.net/11-8720.html
https://8020.net/11-8065.html
https://8020.net/75-3652.html
https://8020.net/11-8720.html
https://8020.net/40-1986.html
https://8020.net/3825.html
https://8020.net/3851.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/3880.html
https://8020.net/3851.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/3889.html
https://8020.net/3851.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/75-3500.html
https://8020.net/3851.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/3881.html
https://8020.net/3852.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/75-3501.html
https://8020.net/3852.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/3882.html
https://8020.net/3853.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/3890.html
https://8020.net/3853.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/75-3502.html
https://8020.net/3853.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/3883.html
https://8020.net/3854.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/75-3503.html
https://8020.net/3854.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/3884.html
https://8020.net/3857.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/75-3504.html
https://8020.net/3857.html
https://8020.net/3821.html
https://8020.net/3860.html
https://8020.net/3963.html
https://8020.net/13-3753.html
https://8020.net/13-3759.html

Hardware #3%

=
5
Bolt Assemblies (Continued) 5
S
M8 x 1.25 Socket Head Cap Screw (SHCS) ]
ctesin] 1 12.00mm B84 1 Roll-In T-Nut with Flex Handle — — .043 b
[/5-3459 [[3-8512 1 12.00mm B84 1 Roll-In T-Nut with Flex Handle — — .044 b
[/5-3624 851 1 12.00mm 1 Self-Aligning Slide-In T-Nut — — 037 Ib
B81 1 12.00mm B833 1 Slide-In Economy T-Nut - Offset Thread — — 041 1b
38R 1 12.00mm 3839 1 Slide-In Economy T-Nut - Offset Thread — — 041 1b
[75-3530 1 12.00mm [tekki] 1 Slide-In Economy T-Nut - Offset Thread — — 023 1b N
[=8512 1 12.00mm 1 Slide-In Economy T-Nut - Centered Thread — — 0211b =
B812 1 16.00mm B84 1 Roll-In T-Nut with Flex Handle — — .036 Ib §_\
3879 B8 1 16.00mm B84 1 Roll-In T-Nut with Flex Handle 38080 1 .0391b (_T
1 16.00mm 3842 1 Roll-In T-Nut with Flex Handle — — .046 Ib @
=363 JikEctouT: B 16.00mm 6822 1 Roll-In T-Nut with Flex Handle 1 0491b
75-3621 13513 1 16.00mm 1 Self-Aligning Slide-In T-Nut — — .040 Ib
[1851d 1 16.00mm B339 1 Slide-In Economy T-Nut - Offset Thread — — 044 b
3864 B812 1 16.00mm 833 1 Slide-In Economy T-Nut - Offset Thread - - .058 Ib
3877 B8 1 16.00mm B339 1 Slide-In Economy T-Nut - Offset Thread 3360 1 .0381b
1 16.00mm B838 1 Slide-In Economy T-Nut - Offset Thread — — .0321b
3432 38518 1 16.00mm B838 1 Slide-In Economy T-Nut - Offset Thread 1 0321b
[/5-353] [[1-8518 1 16.00mm B833 1 Slide-In Economy T-Nut - Offset Thread - - 044 1b o
53534 18518 1 16.00mm B838 1 Slide-In Economy T-Nut - Offset Thread 1 049 b A
1 16.00mm [iKEKY| 1 Standard Drop-In T-Nut — — 037 b %
[/5-3621 [iEE | 1 18.00mm 1 Self-Aligning Slide-In T-Nut — — .0411b (DD
1 18.00mm B833 1 Slide-In Economy T-Nut - Offset Thread — — 045 Ib 7]
[8513 1 18.00mm 3132 1 Standard Drop-In T-Nut — — 038 1b
53473 [3-8570 1 SHCS M8 X125 20.00mm 1 Hex Nut 35047 1 0411b
1 20.00mm B84 1 Roll-In T-Nut with Flex Handle 1 .053 b
3869 1 20.00mm B84 1 Roll-In T-Nut with Flex Handle — — .049 Ib
23461 1 20.00mm G822 1 Roll-In T-Nut with Flex Handle - - 0471b
1 20.00mm B84 1 Roll-In T-Nut with Flex Handle 1 .050 Ib
1 20.00mm B339 1 Slide-In Economy T-Nut - Offset Thread 1 0511b =
3899 1 20.00mm 833 1 Slide-In Economy T-Nut - Offset Thread - - .048 Ib Q‘)U
3433 1 20.00mm B838 1 Slide-In Economy T-Nut - Offset Thread 1 049 b o
1 20.00mm B838 1 Slide-In Economy T-Nut - Offset Thread 1 .051 b @
33430 1 20.00mm B339 1 Slide-In Economy T-Nut - Offset Thread — — 046 Ib QUO
1 20.00mm [iKEKY| 1 Standard Drop-In T-Nut — — 039 1b 8
[=3474 1 25.00mm 1 Hex Nut 1 .044 b 7
3589 1 25.00mm B84 1 Roll-In T-Nut with Flex Handle 1 .056 Ib
1 25.00mm B84 1 Roll-In T-Nut with Flex Handle — — .053 b
1 25.00mm B84 1 Roll-In T-Nut with Flex Handle 1 .057 Ib
RRR] 1 25.00mm B838 1 Slide-In Economy T-Nut - Offset Thread 1 054 b
=323 1 25.00mm 833 1 Slide-In Economy T-Nut - Offset Thread - — .050 Ib
5343 1 25.00mm B838 1 Slide-In Economy T-Nut - Offset Thread 1 055 Ib o
[/5-353] 1 25.00mm B833 1 Slide-In Economy T-Nut - Offset Thread - - .0511b e
1 25.00mm B339 1 Slide-In Economy T-Nut - Offset Thread 1 054 Ib &
[/5-3479 1 40.00mm 833 1 Slide-In Economy T-Nut - Offset Thread - - .040 Ib g
3977 [13-395] 1 45.00mm 1 Flanged Hex Nut 1 .065 Ib fod)
3953 1 50.00mm 1 Flanged Hex Nut 1 070 b i
Q
o~
@
)
=
| 3
More on 80/20° products 0?0 80/20 ?;
available at 3020.nei =
2"’ 5UILD YOUR IDEA 3-203 5


http://8020.net
https://8020.net/3840.html
https://8020.net/3810.html
https://8020.net/3842.html
https://8020.net/75-3459.html
https://8020.net/13-8512.html
https://8020.net/3842.html
https://8020.net/75-3624.html
https://8020.net/11-8512.html
https://8020.net/13025.html
https://8020.net/3834.html
https://8020.net/3810.html
https://8020.net/3838.html
https://8020.net/75-3428.html
https://8020.net/13-8512.html
https://8020.net/3838.html
https://8020.net/75-3530.html
https://8020.net/11-8512.html
https://8020.net/3838.html
https://8020.net/75-3620.html
https://8020.net/11-8512.html
https://8020.net/30-3796.html
https://8020.net/3865.html
https://8020.net/3812.html
https://8020.net/3842.html
https://8020.net/3878.html
https://8020.net/3812.html
https://8020.net/3842.html
https://8020.net/3860.html
https://8020.net/75-3460.html
https://8020.net/13-8516.html
https://8020.net/3842.html
https://8020.net/75-3463.html
https://8020.net/13-8516.html
https://8020.net/3842.html
https://8020.net/13-6042.html
https://8020.net/75-3625.html
https://8020.net/11-8516.html
https://8020.net/13025.html
https://8020.net/75-3621.html
https://8020.net/11-8516.html
https://8020.net/3838.html
https://8020.net/3864.html
https://8020.net/3812.html
https://8020.net/3838.html
https://8020.net/3874.html
https://8020.net/3812.html
https://8020.net/3838.html
https://8020.net/3860.html
https://8020.net/75-3429.html
https://8020.net/13-8516.html
https://8020.net/3838.html
https://8020.net/75-3432.html
https://8020.net/13-8516.html
https://8020.net/3838.html
https://8020.net/13-6042.html
https://8020.net/75-3531.html
https://8020.net/11-8516.html
https://8020.net/3838.html
https://8020.net/75-3534.html
https://8020.net/11-8516.html
https://8020.net/3838.html
https://8020.net/11-6042.html
https://8020.net/75-3623.html
https://8020.net/11-8516.html
https://8020.net/13132.html
https://8020.net/75-3627.html
https://8020.net/11-8518.html
https://8020.net/13025.html
https://8020.net/75-3634.html
https://8020.net/11-8518.html
https://8020.net/3838.html
https://8020.net/75-3626.html
https://8020.net/11-8518.html
https://8020.net/13132.html
https://8020.net/75-3475.html
https://8020.net/13-8520.html
https://8020.net/13-8065.html
https://8020.net/13-6042.html
https://8020.net/3817.html
https://8020.net/3814.html
https://8020.net/3842.html
https://8020.net/3860.html
https://8020.net/3869.html
https://8020.net/3814.html
https://8020.net/3842.html
https://8020.net/75-3461.html
https://8020.net/13-8520.html
https://8020.net/3842.html
https://8020.net/75-3464.html
https://8020.net/13-8520.html
https://8020.net/3842.html
https://8020.net/13-6042.html
https://8020.net/3816.html
https://8020.net/3814.html
https://8020.net/3838.html
https://8020.net/3860.html
https://8020.net/3899.html
https://8020.net/3814.html
https://8020.net/3838.html
https://8020.net/75-3433.html
https://8020.net/13-8520.html
https://8020.net/3838.html
https://8020.net/13-6042.html
https://8020.net/75-3535.html
https://8020.net/11-8520.html
https://8020.net/3838.html
https://8020.net/11-6042.html
https://8020.net/75-3430.html
https://8020.net/13-8520.html
https://8020.net/3838.html
https://8020.net/75-3630.html
https://8020.net/11-8520.html
https://8020.net/13132.html
https://8020.net/75-3476.html
https://8020.net/13-8525.html
https://8020.net/13-8065.html
https://8020.net/13-6042.html
https://8020.net/3888.html
https://8020.net/3818.html
https://8020.net/3842.html
https://8020.net/3860.html
https://8020.net/75-3462.html
https://8020.net/13-8525.html
https://8020.net/3842.html
https://8020.net/75-3465.html
https://8020.net/13-8525.html
https://8020.net/3842.html
https://8020.net/13-6042.html
https://8020.net/3887.html
https://8020.net/3818.html
https://8020.net/3838.html
https://8020.net/3860.html
https://8020.net/75-3431.html
https://8020.net/13-8525.html
https://8020.net/3838.html
https://8020.net/75-3434.html
https://8020.net/13-8525.html
https://8020.net/3838.html
https://8020.net/13-6042.html
https://8020.net/75-3533.html
https://8020.net/11-8525.html
https://8020.net/3838.html
https://8020.net/75-3536.html
https://8020.net/11-8525.html
https://8020.net/3838.html
https://8020.net/11-6042.html
https://8020.net/75-3479.html
https://8020.net/13-8540.html
https://8020.net/3838.html
https://8020.net/3975.html
https://8020.net/13-3955.html
https://8020.net/13-3759.html
https://8020.net/3860.html
https://8020.net/3965.html
https://8020.net/13-3956.html
https://8020.net/13-3759.html
https://8020.net/3860.html

Hardware

What is 80/20

Bolt Assemblies (Continued)

M4 x 0.7 Button Head Socket Cap Screw (BHSCS)

AN T N T e T K S K= B

BHSCS M x 0.7 10.00mm | issiers | 1 Slide-In Economy T-Nut - Offset Thread .008 Ib
X
IZEEE{H ﬂjm 1 12.00mm 12063 1 Hex Nut 15039 1 .005 Ib

M4 x 0.7 Flat Head Socket Cap Screw (FHSCS)

‘g FHSCS MAx0.7 10.00mm 219 Slide-In Economy T-Nut Block .005 Ib
X

a mm 1 12.00mm 1 Hex Nut 1 004 Ib

~N

M4 x 0.7 Socket Head Cap Screw (SHCS)

AN T N R e T K S K=

| rdeseistats] 10.00mm 2154 Standard Drop-In T-Nut — .0031 kg
EIZEIZ 1 SHCS M4 x 0.7 12.00mm 313 1 Standard Drop-In T-Nut — — .0099 kg
[=2518 1 16.00mm 1 Hex Nut 16030 1 .0211b

M5 x 0.8 Button Head Socket Cap Screw (BHSCS)

A N N e e T Y K 7

[/5-3581 [[1-5309 1 8.00mm 222 Slide-In Economy T-Nut Block .0101b
MR 1 10.00mm 1 Slide-In Economy T-Nut Block = = .0081b
ko 12.00mm 1 Standard Slide-In T-Nut — — 0131b
=33 1 BHSCS M5 X08 12.00mm 1 Standard Drop-In T-Nut = .0091b
15314 1 14.00mm 1 Hex Nut 1 0091b
[75-3541 [T5318 1 16.00mm 1 Hex Nut [T1-6040 1 .009 Ib

M5 x 0.8 Flat Head Socket Cap Screw (FHSCS)

g Assy. No. m- Bolt Type Thread Size Bolt Length -- Nut Type - Weight

8 8.00mm 14127 Slide-In Economy T-Nut Block .0101b

o3 1 10.00mm 1 Slide-In Economy T-Nut Block — — .007 Ib

% [1-5714 1 FHSCS M5 X 0.8 14.00mm [[1-5067 1 Hex Nut 1 .008 Ib

e iMEYAL: 1 14.00mm 1 Standard Drop-In T-Nut — — 0121b

o 1 16.00mm 1 Standard Drop-In T-Nut — — 0121b
<

M5 x 0.8 Socket Head Cap Screw (SHCS)

10.00mm | dessineles | Slide-In Economy T-Nut - Offset Thread .0121b

1 12.00mm 1 Slide-In Economy T-Nut Block — — .009 Ib

© m [13-5510 1 SHCS M5 X 0.8 16.00mm 1 Hex Nut 1 .0111b

i sty 1 1600m A 1 Standard Drop-In T-Nut 1 009 b

°2 3731 15520 1 20.00mm 3173 1 Standard Drop-In T-Nut 1 .0121b
O
Y
1)
S
O
n

available at 3020.nei

6 Bearings & Pivots

t More on 80/20° products
44 80/20 .

BUILD YOUR IDEA

3-204


http://8020.net
https://8020.net/75-3552.html
https://8020.net/11-4710.html
https://8020.net/14159.html
https://8020.net/75-3562.html
https://8020.net/11-4712.html
https://8020.net/11-4065.html
https://8020.net/11-6039.html
https://8020.net/75-3537.html
https://8020.net/11-4310.html
https://8020.net/25-1941.html
https://8020.net/75-3538.html
https://8020.net/11-4312.html
https://8020.net/11-4065.html
https://8020.net/11-6039.html
https://8020.net/75-3556.html
https://8020.net/11-4510.html
https://8020.net/14164.html
https://8020.net/75-3563.html
https://8020.net/11-4512.html
https://8020.net/13123.html
https://8020.net/75-3558.html
https://8020.net/11-4516.html
https://8020.net/11-4065.html
https://8020.net/11-6039.html
https://8020.net/75-3581.html
https://8020.net/11-5308.html
https://8020.net/14122.html
https://8020.net/75-3656.html
https://8020.net/13-5310.html
https://8020.net/14122.html
https://8020.net/75-3539.html
https://8020.net/11-5312.html
https://8020.net/3871.html
https://8020.net/75-3583.html
https://8020.net/11-5312.html
https://8020.net/3930.html
https://8020.net/75-3576.html
https://8020.net/11-5314.html
https://8020.net/11-5065.html
https://8020.net/11-6040.html
https://8020.net/75-3540.html
https://8020.net/11-5316.html
https://8020.net/11-5065.html
https://8020.net/11-6040.html
https://8020.net/75-3571.html
https://8020.net/11-5708.html
https://8020.net/14122.html
https://8020.net/75-3572.html
https://8020.net/11-5710.html
https://8020.net/14122.html
https://8020.net/75-3573.html
https://8020.net/11-5714.html
https://8020.net/11-5065.html
https://8020.net/11-6040.html
https://8020.net/75-3574.html
https://8020.net/11-5714.html
https://8020.net/3930.html
https://8020.net/75-3575.html
https://8020.net/11-5716.html
https://8020.net/3930.html
https://8020.net/75-3401.html
https://8020.net/13-5510.html
https://8020.net/25-1951.html
https://8020.net/75-3578.html
https://8020.net/11-5512.html
https://8020.net/14122.html
https://8020.net/75-3400.html
https://8020.net/13-5516.html
https://8020.net/13-5065.html
https://8020.net/13-6040.html
https://8020.net/75-3483.html
https://8020.net/11-5516.html
https://8020.net/13116.html
https://8020.net/11-6040.html
https://8020.net/75-3481.html
https://8020.net/11-5520.html
https://8020.net/13127.html
https://8020.net/11-6040.html

	Front_Inside_Cover
	1_Catalog_24_What_is_8020_Sec_1
	2_Catalog_24_Profiles_Sec_2
	3_Catalog_24_Fasteners_Sec_3
	4_Catalog_24_Panels_and_Doors_Sec_4
	5_Catalog_24_Casters_Feet_Sec_5
	6_Catalog_24_Bearings_Pivots_Sec_6
	7_Catalog_24_Stanchions_Sec_7
	8_Catalog_24_Accessories_Sec_8
	9_Catalog_24_Structural_Shapes_Sec_9
	10_Catalog_24_Machining_Services_Sec_10
	11_Catalog_24_Tools_Sec_11
	12_Catalog_24_Index_Sec_12
	Back_Inside_Cover
	Back_Cover

